


                                      ∑XY = each X multiplied by corresponding Y, then summed
                                      ∑X = sum of X scores

2                                      ∑X  = each X squared, then summed
2                                     (∑X) = sum of X scores, squared

                                      ∑Y = sum of Y scores
2                                       ∑Y = each Y squared, then summed

2                                     (∑Y)  = sum of Y scores, squared  

                                      ∑XY - (

 

∑X) (∑Y)
2  2  [∑X - (∑X )]

2  2[∑Y - (∑Y )]
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